Multiplication Word Problems (H)

Solve each problem and show your work.

Sabrina's mother bought six
packages of ballpark hot dogs (they
come in packages of eight) for a
friendly barbecue which was just
enough for every guest to have one
hot dog. How many guests are
expected?

Every year on ten-year-old Hugo's
birthday, starting with his first
birthday, his parents planted ten
trees on their farm in what they call
“Hugo's Hangout.” How many trees
are currently in Hugo's Hangout?

Jolene and four of her friends
decorated their bicycles for a
parade with nine paper flowers
each. The night before, they made
___paper flowers which was just
enough.

Arturo had seven pets: a dog, a cat,
a snake, a bird, a fish, a lizard and a
horse. He took six pictures of each
pet for his website. How many
pictures of his pets did he take?
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Multiplication Word Problems (H) Answers

Solve each problem and show your work.

Sabrina's mother bought six
packages of ballpark hot dogs (they
come in packages of eight) for a
friendly barbecue which was just
enough for every guest to have one
hot dog. How many guests are
expected?

6 packs x 8 hot dogs per pack = 48
hot dogs, so there are 48 guests
expected

Every year on ten-year-old Hugo's
birthday, starting with his first
birthday, his parents planted ten
trees on their farm in what they call
“Hugo's Hangout.” How many trees
are currently in Hugo's Hangout?

10 trees per birthday x 10
birthdays = 100 trees

Jolene and four of her friends
decorated their bicycles for a
parade with nine paper flowers
each. The night before, they made
____paper flowers which was just
enough.

5 bicycles x 9 flowers per bicycle =
45 flowers

Arturo had seven pets: a dog, a cat,
a snake, a bird, a fish, a lizard and a
horse. He took six pictures of each
pet for his website. How many
pictures of his pets did he take?

7 pets x 6 pictures per pet =42
pictures
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